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F1TH 452 489 941 S14|KFIES 12 12 24 11
m2TH 224 251 475 238|KFHE 8 5 13 8
F3TH 493 481 974 497|| KF1EEr i 88 83 171 73
m4TH 636 602 1,238 626|KFF & 274 282 556 269
mS5TH 1,141 1,141 2,282 1,164|F51TH 17 16 33 14
1TH 910 916 1,826 896|(F&2TH 23 15 38 19
2TH 322 326 648 296| KFEEF 95 108 203 94
+3TH 331 312 643 305(FH1TH 28 24 52 21
m1TH 365 340 705 346 KFRH S 220 223 443 169
m2TH 832 860 1,692 868| X5 1TH 24 17 41 20
m3TH 128 743 1,41 152|(KFFEEHEE 113 96 209 82
RFEF 1,208 1,076 2,284 1,049\ EEE1TH 74 12 146 59
R1TH 779 7 1,550 806 FRE2TH 150 149 299 147
®2TH 1 844 1,615 189(K=F#FE 94 98 192 87
R3TH 715 666 1,381 667||K=FF5 74 14 148 84
®4TH 359 348 707 44| KFHEF 99 89 188 80
®5TH 515 512 1,027 502K FKFHE 79 14 153 67
#&81TH 977 1,054 2,031 1,015|% 1 %& 209 170 379 305
#e2TH 264 284 548 250(|%k 2 & 313 351 664 396
Bm1TH 275 294 569 288||% 3 & 252 234 486 307
m2TH 344 320 664 320(|%k 4 & 599 519 1,118 809
RFREFFE 196 197 393 173|[% 5 %& 248 254 502 372
KF I3 242 252 494 208(|%k 6 & 139 125 264 156
RF T 996 987 1,983 110|157 & 124 143 267 89
RFFE 1,109 1,080 2,189 887|(FEBAM 1 TH 346 364 70 336
RFMHBEN 509 497 1,006 369(FERM 2TH 528 528 1,056 506
PN ) 198 199 397 181|FZEM3TH 207 199 406 192
ARFEERE 120 120 240 115(\1FHM4TH 269 266 535 244
RFHEFFE 17 161 332 153

RFLEFH 1,274 1,255 2,529 1,045

EEH1TH 431 4an 902 395

ARFHERE 211 199 410 201

RFESHH 287 256 543 242

RFHEARN 293 267 560 242

KRFKRIL 181 168 349 148

RF2EHH 574 488 1,062 495

RFHE 17 15 32 14

RFTFHNHA 112 92 204 93

AFEFHH 84 12 156 66

RFETEH 184 189 373 183

RFHEEE 65 60 125 58 B 24, 601 24,245 48,846 23,526




